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M. A. (Fourth Semester) (Main/ATKT) 
EXAMINATION, May-June, 2021 

POLITICAL SCIENCE 
Paper Fifth 

¼vUrjkZ”Vªh; jktuhfr ds ledkyhu eqís½ 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 
 [k.M&v izR;sd 1  

(Section—A) 
oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- xqVfujis{krk dk vFkZ gS % 

¼v½ rVLFkrk 

¼c½ vizfrc)rk 

¼l½ vyxkookn 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Meaning of the non-alignment : 

(a) Neutrality 

(b) Non-commitment 

(c) Separatism 

(d) None of the above 

2- ‘khr ;q) ds okrkoj.k dks ^fuyfEcr e`R;qn.M dk okrkoj.k* fdlus 

dgk Fkk \ 

¼v½ tkWtZ dSuu 

¼c½ MkW- fdflaxj 

¼l½ ds- ih- ,l- esuu 

¼n½ ia- tokgjyky usg: 

Who said the atmosphere of the cold war the ‘atmosphere of 
the suspended death’ ? 

(a) George Cannon 

(b) Dr. Kissinger 

(c) K. P. S. Menon 

(d) Pt. Jawaharlal Nehru 

3- xqVfujis{krk dks izksRlkgu nsus okys dkjd gSa % 

¼v½ la;qDr jk”Vª la?k 

¼c½ f}rh; fo’o ;q) 

¼l½ ‘khr ;q) 

¼n½ vesfjdk dh fons’k uhfr 
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Factor that is encourages to Non-alignment : 

(a) United Nations 

(b) Second World War 

(c) Cold War 

(d) Foreign Policy of America 

4- f}rh; ‘khr ;q) dc izkjEHk gqvk \ 

¼v½ 1976 

¼c½ 1977 

¼l½ 1978 

¼n½ 1980 

When did the second cold war start ? 

(a) 1976 

(b) 1977 

(c) 1978 

(d) 1980 

5- uo ’khr ;q) dk dkj.k gS % 

¼v½ D;wck ladV 

¼c½ vQxkfuLrku ladV 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 
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The cause of the new cold war : 

(a) Cuba crisis 

(b) Crisis of Afghanistan 

(c) Both (a) and (b) 

(d) None of the above 

6- ^‘khr ;q)* ‘kCn dk iz;ksx loZizFke fdlus fd;k \ 

¼v½ cukZM ,e- c:p 

¼c½ izks- fyieSu 

¼l½ ekWxsZUFkkÅ 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who first used the term ‘cold war’ ? 

(a) Bernade M. Baruch 

(b) Prof. Lipman 

(c) Morgenthau 

(d) None of the above 

7- lkE;okn ds izlkj dks lhfer j[kus dh uhfr ds iz.ksrk dkSu Fks \ 

¼v½ tkWtZ dsuu 

¼c½ gsujh VªweSu 

¼l½ ÇoLVu pfpZy 

¼n½ tkWtZ lh- ek’kZy 
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Who was the pioneer of the policy of limiting the spread to 

communism ? 

(a) George Cannon 

(b) Henry Truman 

(c) Winston Churchill 

(d) George C. Marshall 

8- vUrjkZ”Vªh; jktuhfr ij ‘khr ;q) dk izHkko iM+k % 

¼v½ fo’o dk nks xqVksa esa foHkktu 

¼c½ ‘kL=hdj.k dh vfojy izfrLi/kkZ 

¼l½ lSfud n`f”Vdks.k dk iks”k.k 

¼n½ mi;qZDr lHkh 

The cold war had an impact on international politics : 

(a) The division of the world into two factions 

(b) Incessant competition of armament 

(c) Nurturing military attitude 

(d) All of the above 

9- ^n dksYM okj ,t fgLVªh ¼1967½* fdldh jpuk gS \ 

¼v½ ¶ysfeax 

¼c½ ekWxsZUFkkÅ 

¼l½ xzhOt 

¼n½ yqbZ gkys 
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The auther of ‘The Cold War as History (1967)’ : 

(a) Fleming 

(b) Morgenthau 

(c) Greaves 

(d) Louis Halle 

10- fnrkUr dk vFkZ gS % 

¼v½ ruko esa f’kfFkyrk 

¼c½ rukoiw.kZ lEcU/kksa dh lekfIr 

¼l½ ‘kkfUriw.kZ lg&vfLrRo 

¼n½ ‘khr ;q) dh lekfIr 

Meaning of detente : 

(a) Relaxation of tensions 

(b) End of strained relationship 

(c) Peaceful coexistence 

(d) End of cold war 

11- ekLdks&cksu le>kSrk dc gqvk Fkk \ 

¼v½ 10 vxLr] 1970 

¼c½ 10 vxLr] 1971 

¼l½ 31 vxLr] 1972 

¼n½ 31 vxLr] 1973 

When was the Mascow-Bone Agreement signed ? 

(a) 10 August, 1970 

(b) 10 August, 1971 

(c) 31 August, 1972 

(d) 31 August, 1973 
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12- fe[kkby xksckZP;kso us dkSu&lh uhfr dk izfriknu fd;k Fkk \ 

¼v½ iw¡thoknh ns’kksa ds lkFk fe=rk 

¼c½ XykluksLr vkSj isjsL=kbdk 

¼l½ phu ds lkFk laf/k 

¼n½ iwohZ ;wjksi dk lSU;hdj.k 

Which policy was propounded by Mikhail Gorbhachev ? 

(a) Friendship with capitalist countries 

(b) Glasnost and Perestroika 

(c) Treaty with China 

(d) Militarization of eastern Europe 

13- fuEufyf[kr esa ls fdl fo}ku dk lEcU/k fuHkZjrk fl)kUr ls ugha gS \ 

¼v½ MkWl lkUrks”k 

¼c½ ,- th- ÝSad 

¼l½ okyLVsu 

¼n½ tkslQ ÝSady 

Which of the following scholars is not concerned with 

dependency theory ? 

(a) Dos Santos 

(b) A. G. Frank 

(c) Wallstane 

(d) Joseph Franckel 
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14- la;qDr jk”Vª la?k i;kZoj.k dk;ZØe fdl lEesyu dk ifj.kke Fkk \ 

¼v½ LVkWdgkse lEesyu] 1972 

¼c½ vtsZ.Vhuk lEesyu] 1977 

¼l½ fj;ks i`Foh lEesyu] 1992 

¼n½ uSjksch ?kks”k.kk] 1982 

United Nations Environment Programms is the outcome of 
which conference ? 

(a) Stockholm Conference, 1972 

(b) Argentina Conference, 1977 

(c) Rio Earth Conference, 1992 

(d) Nairobi Declaration, 1982 

15- 1945 esa czsVuoqM~l ds lEesyu esa fdl egRoiw.kZ vUrjkZ”Vªh; laLFkk dh 

LFkkiuk gqbZ Fkh \ 

¼v½ vUrjkZ”Vªh; eqnzk dks”k 

¼c½ fo’o cSad 

¼l½ xSV 

¼n½ mi;qZDr lHkh 

Which important international organization was established 
at the Brettonwoods Conference in 1945 ? 

(a) International Monetary Fund 

(b) World Bank 

(c) GATT 

(d) All of the above 
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16- ekuo vf/kdkjksa dh lkoZHkkSfed ?kks”k.kki= esa fdrus vuqPNsn gSa \ 

¼v½ 20 

¼c½ 30 

¼l½ 40 

¼n½ 45 

How many articles are there in the Universal Declaration of 
Human Rights ? 

(a) 20 

(b) 30 

(c) 40 

(d) 45 

17- ubZ vUrjkZ”Vªh; vFkZO;oLFkk dh LFkkiuk dk ekxZ gS % 

¼v½ mŸkj&nf{k.k laokn 

¼c½ nf{k.k&nf{k.k laokn 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

It is the path of establishment of a new international 
economy order : 

(a) North-South Dialogue 

(b) South-South Dialogue 

(c) Both (a) and (b) 

(d) None of the above 
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18- oS’ohdj.k dh izfØ;k dk mís’; gS % 

¼v½ vkfFkZd mnkjhdj.k 

¼c½ leLr yksxksa dk loZi{kh; fVdkÅ fodkl 

¼l½ laLd`fr dk izlkj 

¼n½ mi;qZDr lHkh 

The aim of the process of Globalization is : 

(a) Economic liberalization 

(b) Universal sustainable development of all people 

(c) Spread of culture 

(d) All of the above 

19- ^fn Dys’k vkWQ flfoykbts’ku ,.M fn fjesfdax vkWQ oYMZ vkMZj* 

fdldh jpuk gS \ 

¼v½ lSeqvy ih- gaÇVxVu 

¼c½ dsusFk okYV~t 

¼l½ fjpMZ lh- LukbMj 

¼n½ ,p- MCY;w- czd 

The auther of ‘The Clash of Civilization and the Remaking 

of World Order’ is : 

(a) Samuel P. Huntington 

(b) Kenneth Waltz 

(c) Richard C. Snyder 

(d) H. W. Brack 
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20- fdl ?kks”k.kki= dks leLr ekuo lekt ds esXuk dkVkZ dk uke fn;k 

x;k gS \ 

¼v½ ekuo vf/kdkjksa dh lkoZHkkSfed ?kks”k.kk 

¼c½ fodkl ds vf/kdkj ds ckjs esa ?kks”k.kk 

¼l½ jaxHksn lekIr djus dh ?kks”k.kk 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which manifesto has been named as the Magna Carta of all 

human society ? 

(a) Universal declaration of human rights 

(b) Declaration about right to development 

(c) Declaration to end color discrimination 

(d) None of the above 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

bdkbZ&1 

(UNIT—1) 

1- xqVfujis{krk dh dksbZ nks pqukSfr;k¡ crkb,A 

Mention any two challenges of non-alignment. 
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2- xqVfujis{krk dh dksbZ nks uwru izo`fŸk;k¡ fyf[k,A 

Write any two new trends of non-alignment. 

bdkbZ&2 

(UNIT—2) 

3- ‘khr ;q) dh mRifŸk ds nks dkj.k fyf[k,A 

Write two reasons for the origin of Cold War. 

4- ubZ fo’o O;oLFkk dh nks fo’ks”krk,¡ crkb;sA 

Mention two features of the new world order. 

bdkbZ&3 

(UNIT—3) 

5- la;qDr jk”Vª i;kZoj.k dk;ZØe (UNEP) D;k gS \ le>kb;sA 

What is United Nations Environment Programme ? Explain. 

6- vkradokn dks ifjHkkf”kr dhft,A 

Define Terrorism. 

bdkbZ&4 

(UNIT—4) 

7- uo&mifuos’kokn ds nks dkj.k fyf[k,A 

Write two causes of neo-colonialism. 

8- mŸkj&nf{k.k laokn D;k gS \ 

What is North-South dialogue ? 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

bdkbZ&1 

(UNIT—1) 

1- xqVfujis{krk dh vkykspuk dhft,A 

Criticize non-alignment. 

2- xqVfujis{krk ds egRo dks crkb;sA 

Explain the importance of non-alignment. 

bdkbZ&2 

(UNIT—2) 

3- ‘khr ;q) lekfIr ds rhu dkj.k fyf[k,A 

Write three reasons for the end of the Cold War. 

4- ubZ fo’o O;oLFkk esa lfEefyr u, eqn~ns D;k gSa \ 

What are the issues involved in the New World Order ? 

bdkbZ&3 

(UNIT—3) 

5- oS’ohdj.k ds D;k ykHk gSa \ 

What are the benefits of Globalization ? 
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6- vUrjkZ”Vªh; jktuhfr ij vkradokn ds izHkko dk ijh{k.k  

dhft,A 

Examine the impact of terrorism on International  

Politics. 

bdkbZ&4 

(UNIT—4) 

7- uo&mifuos’kokn ds lk/ku D;k&D;k gSa \ 

What are the means of neo-colonialism ? 

8- nf{k.k&nf{k.k lg;ksx dh lhek,¡ vkSj pqukSfr;ksa dk o.kZu dhft,A 

Describe the limitations and challenges at South-South 

Cooperation. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

bdkbZ&1 

(UNIT—1) 

1- xqV&fujis{krk ds lEcU/k esa Hkkjrh; n`f”Vdks.k dks le>kb;sA 

Explain the Indian view of non-alignment. 
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vFkok 

(Or) 

xqV&fujis{krk dks izksRlkgu nsus okys dkjdksa dk o.kZu dhft,A 

Describe the factors that encourage non-alignment. 

bdkbZ&2 

(UNIT—2) 

2- ‘khr ;q) dh izeq[k ?kVukvksa dk o.kZu dhft,A 

Describe the major events of the Cold War. 

vFkok 

(Or) 

uo&’khr ;q) dks le>kb;sA 

Explain the New Cold War. 

bdkbZ&3 

(UNIT—3) 

3- oS’ohdj.k dk vUrjkZ”Vªh; lEcU/kksa ij D;k izHkko iM+k gS \ 

What is the impact of globalization on International 
Relations ? 

vFkok 

(Or) 

ekuokf/kdkjksa ds laj{k.k ,oa izksRlkgu nsus esa la;qDr jk”Vª dh Hkwfedk 

dk o.kZu dhft,A 

Describe the role of United Nations in protecting and 
promoting human rights. 
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bdkbZ&4 

(UNIT—4) 

4- ubZ vUrjkZ”Vªh; vkfFkZd O;oLFkk dh D;ksa vko’;drk gS \ o.kZu dhft,A 

Why there is a need for a new International Economic 

Order ? Explain. 

vFkok 

(Or) 

uo&mifuos’kokn dh vo/kkj.kk dks le>kb;sA 

Explain the concept of Neo-Colonialism. 
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